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Here are four digit cards.

Binlo:

Use each digit card once to make the decimal number nearestto 20

e

Write these numbers in order of size, starting with the smallest.

3.01 13.0 0.31 1.30 3.1
M | I | [

smallest
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Complete the sentences to describe the representations using less
or greater.
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@ Complete the shading so that the inequality is correct.

B is greater than B which is greater than B
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e Jamilla rates these dinosaurs for fierceness.

Sort the list into order, starting with least fierce.

Dinosaur Fierceness
(0 is not fierce, 10
is the most fierce)

Order
(Ist is least fierce,
5th is most fierce)

Brachiosaurus | 4-607

Ist

Triceratops 8-925

2nd

T-Rex q9-525

3rd

Stegosaurus | 8:923

4th

Spinosaurus | 9-519

Sth
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e Complete using <, > and =.
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